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Fill the relevant bubble against each question: Sclence Group LS fmeend s Ly

The values of x from quadratic equation
(x=4)(x+1)=0 are: v . o
. b 4 " -—1 ,_ ’_
1 Vit x et (x=4)(x+1) =0 2biegunds O 41 O 4 O O

fur

If roots of equation px’+gx+2=0 _are
reciprocal of each other, then value of pis:

2. o 0 -2 3 2
L LWL pxP+gx+2=0 A Q O O O
e edd piungs
If discriminant of a quadratic equation is
positive but not a perfect square, then roots
3, are Complex O Rational C) Irrational O Equal
U Lf‘}/;ﬂéé/g}[d?:/.zaﬂ/g}/'K;«‘!‘V‘(;.J)})/" &?/:’ o &?L/-." e
L

In which situation x varies directly as y 4 _ T~ ot
4. O x=; O xy=6 () X=Xy Q x—Igy

(.'f_:fuf:/bi Yot x LJ:O/}“U/

The identity (Sx +4)2 =25x* +40x+16 is Only one value Only two Only three

true for: O of x values of x () values of x All values of x
‘e oond L (5x+4) =258 +40x+16 L T Ledfio dx Lo ndrdx Lo Eordx Lyl x
& i &

If number of elements in set X is 3 and in
setY is 2 then number of binary relations in

6. X xY are: O 23 O 92 (:) 26 O oR

%/")42;1»70,‘;)(/1‘): Y Q’/JI3JI,«;JU{A s X ;f/r'
?c._g,":(:lﬂd/@wéauf XxY

If x=10,Zx =7+9k and n=7 thenvalue

7. of k s O 9 O 7 ()9% O -7

tefedfkon=Tu x=10,Zx=7+9% /i

The value of Cosecd Tand is equal to:

8. (O sin# (O Cos# (O Cosecd (O Seco

el <i§CosecOTanl
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In given circular figure the length of chord is:

}.

9. O 4em O 6em O Tem O 9em
te WSt Lo md s
A line which has two points in common with Cosine of a Tangent of a Secant of
acircle is: Sine of a circle circle circle circle
10, O O O S,

Un P bEn A I LS 5L

Cosine Ke-7is

Sine ¥/ Tangent /i

Secant ¥ 71

In given figure, If mZAOB =130°, thenthe

value of mZADB is.
B

11. 0
D v A

=3 m/ADB I mZAOB=130°, /isfds

O 130°

O 65° O 60°

O 120°

In given figure, the value of x is:

(" 5

30°
12. 0

teiedd x B LB

() 60° QO 120° O 150°

O 90°

The tangents drawn at the end points of

diameter of a circle are: . Parallel Perpendicular Intersecting Overlapping
1. RS O Jiclie i ® O
“SLngV LU LHELe it e & ..f;;’/»l
The triangle with sides 8cm,15¢cm and
14, 17cm is: Acute angled O Obtuse angled O Right angled Equiangular
teadyul - 8em,15cm,17cm Lo ek 15k Y 1B AN
If g:x—y thenwhich one of the following
represents:
X Y
Injective Surjective Bijective
function function function Not a function
15. a0y s 205 s als (>4 v afsy
Oy Oyse, Ousy O s
Set A Set B
e tLesrgixay
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Time allowed: 2:40 Hours

L
MATHEMATICS SSC-li 50—

Science Group

Total Marks Sections B and C: 60

NOTE: A.tterppt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

Q4.

Q5.

Qé.
Q7.

SECTION — B (Marks 36)

Attempt any NINE parts. All parts carry equal marks. (9x4=36)
: x+1
) Solve by factorization. *rd + .. —22
x x4+l 12
(ii) Solve S L5 =]
(i)  Show that the equation X’ +(mx+ c)2 —a® has equal roots if ¢’ = az(lﬂnz)
(iv) If w varies inverselyas z and w=5,z=7, Find
(a) The equation connecting w and z (b) The value of constant (c) The value of w, when z=1—;715~
a b ¢ ¥ Yy 3wz
(V) If Z=2==, where a,b,cand x,y,z are non-zero numbers, then prove that —+=5+-—5= by using
x y z @ b ¢ abe
k-Method.
3x-2
(vi) Resolve into Partial fractions A
2x° —~x ‘
iy If U=W,4=¢,B=N then find (a) A (b) B (c) Verify (4UB) =4’ B’
iy If X={x|xeNAx<6] Y={ylyeP Ay <11} then find
(a) X and Y in tabular form (b) XxY (€) Relation R ={(x,y)!x+y=6}
(ix) The given Qata relates to the ages of children in a school, compute T Class limits \\ Frequency_l
(a) Zf (b) Lf logx ‘
. 4-6 q 10 :
(©  G.M (Geomeric Mean)by,using ; GiM = Antilog(zj ;;“) 9 | 20 |
1
), 10-12 13 g
-
(x) Verify identity ~ (tan@+cot@)(cos6 +sin 0) =sect +cosect | 13-15 7 |
(x)  InAABC, mAB =6cm mAC =4em ,m<A=60°Find mBC by using theorem
(sz)2 = (?{6)2 +(ZE): ~ 2(2?)(745)
(xii) Prove that two tangents drawn to a circle from a point outside it are equal in length.
(xi)  In given figure "O"is the centre of a circle, and mAM =mBM , mOA=13, mOM =5 Find
(@)  The value of mBM (b) mZBOM
(xiv)  Describe a circle of radius Sem, passing through points 4 and B 6cm apart

The sum of the squares of two digits of a positiv

SECTION — C (Marks 24)

(3x8=24)

Attempt any THREE questions. All questions carry equal marks.

e integral number is 65 and the number is 9 times the sum of

its digits. Find the number.

Resolve into Partial Fractions

A light house is
are 30° and 45° respectively. If lines joining the boats passes through the

: 4x*

(1 —x)(l +x2)2

300m above the sea level. Angles of depressions of two boats from the top of light
foot of the light house. Find

house

distance between boats when they are on the same side of the light house.
It two chords of a circles are congruent, then prove that they will be equidistant from the centre.

Prove that the measure of a central angle of a minor arc of a circle, is double that of the an

gle subtended by

the corresponding major arc.
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(36,4 F)rn .00
(9x4 = 36)

% + —x-i—l = % S LS GF 2oid el

S5 =10 SIS

¢ :a2(1+m2) HE it ¥ +(mx+c)2 =a’ ehleS et

# w=sz2=7, siag S siw )l

« z=% Lylemedlw 2 L[/(PoafJ(Constant)J’V w Lzeddw

3 3 3 Z
S (k-MethOd)—x—+X—+Z—=3ﬂ—z— Iu/c/.‘&?u?;mt # Fab,enl xyz 82 3__1)_:.0_" Ji
7 AT A Y >

b ¢ abe x_y
3x-2 >
xz - q/‘)f’u:/d;z
2x"—x

(AVB) =anB &t & B o 4 . LSekTn UsW,A=pB=N S,

q/r:"’inY:{y[yeP/\y<11}J;lX={x|xeN /\x<6}//l

}:/funjb':'Rz{(x,y)lx+y=6} L < X xY g UEILY X LY
Class limits Frequency q’f(ﬁ’-‘abfﬁw;();/gfuééd;f’u’(ﬂrlﬂ;u:d:,gauﬁa;
4-6 10 Sflogx - X
7-9 20 :
10-12 13 GM= Antilog[ij%;ﬂ) (Geometric Mean) leu’,g}’l 0
13-15 7
(tan9+cot9)(cosé?+sim9)=sec€+cosec6’ Th

e

mLA=60°, mAC = 4em, mAB = 6em U~ ABC &t

mBC J/ e nd SJeiiwd (B_é)2 = (1’4“5)2 + (ZE)Z -2(4B)(4D)
-ujZ_n/J/,uﬁ(jUJVu)»ég/’bc,ﬂ(}!/.?kf(fé/cab’

uj}k’ mAM = mBM , mOA = 13, mOM =5 J}I‘L}’//gﬁ—//") O uﬁ#&@,
miBOM o edSmBM i

u;if’/u’umuf':c&’ 5 intsS e Bl AbEdis hoidion 25 6

(24 4 J)rrw
Cuted Lusdr (b gEf vk

(3x8=24)

g‘f":r}’ﬁﬁ-c‘;WQ (&ﬁéurﬂi—bﬁm% 65 ;rf(u‘»’f/iurﬂfzwﬁ)xé&a?..@

e B8y LIIE S
(l—x)(l+x2)

LS UE U S 459 1 30° o Ao & Ui e st L& e g 300 cnirl sabF s
-u,?u?y‘u')’d‘vg’[—Jl’r:Lfuu,?.@/(:’“‘.lﬂl?ufLﬁu:}i{.c‘-bfc_é_gﬁ,..7LJI}: 5(}"551
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